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QUESTION 1

In which two ways are tenant systems different from logical systems? (Choose two.)

A. Tenant systems have higher scalability than logical systems

B. Tenant systems have less scalability than logical systems

C. Tenant systems have fewer routing features than logical systems

D. Tenant systems have more routing features than logical systems

Correct Answer: AC

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/tenant-

systemsoverview.html#:~:text=Although%20similar%20to%20logical%20systems,administrative%20domain%20for
%?20security%20services

QUESTION 2

You are asked to set up notifications if one of your collector traffic feeds drops below 100 kbps.
Which two configuration parameters must be set to accomplish this task? (Choose two.)

A. Set a traffic SNMP trap on the JATP appliance

B. Set a logging notification on the JATP appliance

C. Set a general triggered notification on the JATP appliance

D. Set a traffic system alert on the JATP appliance

Correct Answer: BD

QUESTION 3

Click the Exhibit button.
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[edit]
userf@hostf show interfaces ge-0/0/4
unit 0 {
family ethernet-switching {
interface-mode access;
vlan {
members 5SV;

}
}

[edit]
user@host# show interfaces ge-0/0/5
unit 0 {
family ethernet-switching {
interface-mode access;
vlan {
memnbers 35V;

}
}

[edit] (EEQ
userfhostf show vlans P
vlan-id 101; Géé)
}
[edit]
userfhost® show se u nes securlty-zone L2

interfaces {
ge-0/0/4.0

ge- Gfﬂf5
}
[edit]
userfhost ow 3ecurity policies

[edit]
user@hostf

[edit]
user@host§ run show ethernet-switching global-information
Global Configuration:

MAC aging interval T 304

MAC learning : Enabled
MAC statistics : Disabled
MAC limit Count : 65535
MAC limit hit : Disabled
MAC packet action drop : Disabled
LE aging time : 1200

LE VLAN aging time : 1200

Global Mode Transparent bridge
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You have two hosts on the same subnet connecting to an SRX340 on interfaces ge-0/0/4 and ge-0/0/5. However, the
two hosts cannot communicate with each other.

Referring to the exhibit, what are two actions that would solve this problem? (Choose two.)
A. Set the SRX340 to Ethernet switching mode and reboot

B. Add an IRB interface to the VLAN

C. Put the ge-0/0/4 and ge-0/0/5 interfaces in different VLANs

D. Remove the ge-0/0/4 and ge-0/0/5 interfaces from the L2 security zone

Correct Answer: AD

QUESTION 4

Your organization has multiple Active Directory domains to control user access. You must ensure that
security policies are passing traffic based upon the users\\' access rights.

What would you use to assist your SRX Series devices to accomplish this task?

A. JATP Appliance

B. JIMS

C.JSA

D. Junos Space

Correct Answer: B

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/security-user-authintergrated-user-
firewall-overview.html

QUESTION 5

Click the Exhibit button.
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Topology 1: =] |
l;! [=="] o ——
Host Layer 2 switch SRX series device as firewall in Layer 3 mode
Configured with IRB '
Topology 2: } [o=*] I _: |_'L T

Host Layer 3 switch SRX series device 8§ firewall in Layer 2 mode
Configured with IRB (¢ 4

Topology 3: ;;} = = L]

Host Layer 2 switch cLayer3 aggregation switch SRX series device as firewall in Layer 3 mode

o, | Configured with IRB
Topology 4: [ :
=

{)
i

Host Layer 2-3_'5_1'.91,'5:_%1'- y SRX series device as firewall in Layer 3 mode
Configured with IRB
I I
I I [

Topology 5: |: '
E% e —

Host Layer 2-3 switch SRX series device as firewall in Layer 2 mode
Configured with IRE

i

Referring to the exhibit, which three topologies are supported by Policy Enforcer? (Choose three.)
A. Topology 3

B. Topology 5

C. Topology 2

D. Topology 4

E. Topology 1

Correct Answer: ADE

Reference: https://www.juniper.net/documentation/en_US/junos-spacel7.2/policy-enforcer/topics/concept/ policy-
enforcer-deployment-supported-topologies.html

QUESTION 6

Click the Exhibit button.
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user@srx> show configuration security nat static
static {
rule-set abe_rulet {
from zone untrust;
rule 1{
match {
destination-address 203.0.113.203;
}

2021 Latest lead4pass JNO-635 PDF and VCE dumps Download

then {
static-nat { User
prefix {
10.10.10.80;
}
} www.abc.com
! E= N —
- R o, trust [T~ ] ]| dmz
N ] |
< ' SRX Firewall
Web Server DNS Server
10.10.10.80 172.27.0.53

203.0.113.203

203.0.113.205

A user is trying to reach a company\\'s website, but the connection errors out. The security policies are configured

correctly.

Referring to the exhibit, what is the problem?

A. Persistent NAT must be enabled

B. The action for rule 1 must change to static-nat inet
C. DNS ALG must be disabled

D. Static NAT is missing a rule for DNS server

Correct Answer: D

QUESTION 7

Click the Exhibit button.

JNO0-635 PDF Dumps | JNO-635 VCE Dumps | JNO-635 Braindumps

6/12


https://www.lead4pass.com/jn0-635.html
https://www.lead4pass.com/jn0-635.html
https://www.lead4pass.com/jn0-635.html

VCE & PDF https://lwww.lead4pass.com/jn0-635.html
2021 Latest lead4pass JNO-635 PDF and VCE dumps Download
Lead4Pass.com

[edit]
userflsrx# show security policies
from-zone Client to-zone Internet {
policy Adv-Services {
match {
source—address any; P
destination-address any; y. Ruf.
dynamic—application any; ;

} f
then { .
permit { &
application- serv1ces {
ssl-proxy {0 &
prpfile.néme SSL-pro;
}
secu:1ty+1ntelllgence policy Sky-intel;
/adyaﬂceﬂ#entl -malware-peclicy Sky-pol;
¥ <
} . -
}
} b
}
[edit]

userfsrx#_ show sédurlty flow
ipsec-performafes-acceleration;
load-distribution session-affinity ipsec;
tcp-mss {0 ¢
ipsec—vpn {
mss 633335;
}

Referring to the exhibit, you are attempting to enable IPsec power mode to improve IPsec VPN performance. However,
you are unable to use IPsec power mode.

What is the problem?

A. IPsec power mode cannot be used with IPsec performance acceleration

B. IPsec power mode cannot be used with high IPsec maximum segment size values
C. IPsec power mode cannot be used with advanced services

D. IPsec power mode requires that you configure a policy-based VPN

Correct Answer: C

Reference: https://www.juniper.net/documentation//en_US/junos/topics/reference/configuration-statement/ security-flow-
power-mode-ipsec.html

QUESTION 8
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A user is unable to reach a necessary resource. You discover the path through the SRX Series device
includes several security features. The traffic is not being evaluated by any security policies.

In this scenario, which two components within the flow module would affect the traffic? (Choose two.)

A. services/ALG

B. destination NAT
C. source NAT

D. route lookup

Correct Answer: AC

QUESTION 9

Click the Exhibit button.

[ [ [ | 9e-0/0/0
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ge-0/0/0

I branch

&l
203.0.113.1

userffhg# show security ike

gateway ike gtw-branch {
ike-policy ike-policy-branchs
dynamic hostname branch.akgieom;
external-interface ge-0/0/0;
local=-address 203.0.113.1;

203.0.113.2

The IKE policy and proposal are configured properly on both devices as shown in the exhibit. Which configuration
shippet will complete the IKE configuration on the branch SRX Series device?
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@ A [edit security ike]
user@srx# show gateway ike gtw hg
ike-policy ike-policy-hq;
dynamic hostname branch.abc.com;
external-interface ge-0/0/0;
local-address 203.0.113.2;

© B. [edit security ike] {Sh
userfsrxf show gateway ike/ whag

ike-policy ike-policy-h
dynamic hostname hqg. ;

external-interface

local-address 0a%13.2;

© C. [edit secuxi ike]
user@srx#f gateway ike gtw hg
ike-poli i ke—policy-hg;

loca ntity hostname hg.abc.com;
ternal-interface ge=0/0/0;

¥4
g\o;v.;ﬁ)l—address 203.0.113.2;

@ D. [edit security ikel

user@srx# show gateway ike_gtw_hg
ike-policy ike-policy-hg;
local-identity hostname branch.abc.com;
external-interface ge—ﬂfﬂfﬂ;
local-address 203.0.113.2;

=

A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: D

QUESTION 10

Click the Exhibit button.
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userfsrx> show security flow session
Session ID: 358216, Policy name: default—poliﬁy-logica1—5ystem—@0!2, Timeout:
1788, valid

In: 10.10.10.1/63261 --> 203.0. 113. 1&!443 tcp, Conn Tag: 0x0, If: ge-0/0/1.0,
Pkts: 632, Bytes: 49341,

out: 203 0.113.10/443 --> 172. 25;11 4/21740;tcp, Conn Tag: 0x0, If: ge-
0/0/0.0, Pkts: 662, Bytes: 79325,

Referring to the exhibit, which statement is true?

A. Source NAT with PAT is occurring

B. Destination NAT is occurring C. Static NAT without PAT is occurring
D. Source NAT without PAT is occurring

Correct Answer: A

QUESTION 11

Click the Exhibit button.

userfhost> show ethernet-switching glcbal-information
Globzl Configuration:

MAC aging interval - BDG

MAC learning :_Enabled
MAC statistics @ Disabled
MAC limit Count % 65535
MAC limit hit wE% : Disabled
MAC packet acticn drap : Disabled
LE acing time ' : 1200

LE VLAN aging time" : 1200
Globzl Mode : Switching

Referring to the exhibit, which two statements are true? (Choose two.)
A. You can secure intra-VLAN traffic with a security policy on this device
B. You can secure inter-VLAN traffic with a security policy on this device
C. The device can pass Layer 2 and Layer 3 traffic at the same time

D. The device cannot pass Layer 2 and Layer 3 traffic at the same time
Correct Answer: AD

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/ethernet-port-switchingmodes.html
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QUESTION 12

Click the Exhibit button.

userfisrx-1> show security ipsec next-hop-tunnels

Next-hop gateway interface IPsec VEM'name Flag XAUTH-USERNAME
10.10:.10.2 st0.0 srxls@t srx2 Autc Not Available
10.10.10.3 st0.0 srEl-to-srx3 Auto Not-Available
10.10.10.4 st0.0 s¥xl-to—srxd auto Not-Available

Which statement is correct regarding the information show in the exhibit?
A. The tunnel binding was discovered automatically

B. The output is for an ADVPN

C. The tunnel gateway address was automatically discovered

D. The tunnel is not encrypting the traffic

Correct Answer: C

Reference: https://www.juniper.net/documentation/en_US/junos/topics/reference/command-summary/ show-security-
ipsec-next-hop-tunnels.html

QUESTION 13

You have configured three logical tunnel interfaces in a tenant system on an SRX1500 device. When committing the
configuration, the commit fails.

In this scenario, what would cause this problem?

A. There is no GRE tunnel between the tenant system and master system allowing SSH traffic
B. There is no VPLS switch on the tenant system containing a peer 1t-0/0/0 interface

C. The SRX1500 device does not support more than two logical interfaces per tenant system
D. The SRX1500 device requires a tunnel PIC to allow for logical tunnel interfaces

Correct Answer: B

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/logical-systemsoverview.html
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